Order online at GTCmanufacturing.com or fax orders to (925) 691-0334 or email to info@GTCmanufacturing.com

LIST PRICE SHEET

Industries

Torque Converters and Centrifugal Clutches
for Go Karts, Mini Bikes and Small Vehicles

a TC2

b Hardware
c Parts

d Specialty
e Clutch

f Engine

4/1/2015

Prices are subject to change without notice. Please contact GTC Industries to confirm prices Prices in effect at time of delivery will appear on
the invoice. All prices are FOB Pleasant Hill, CA

PART# DESCRIPTION

1001 TC2 Torque Converter 3/4" Bore, #35P, 12T TC30/TAV2
1002 TC2 Torque Converter 3/4" Bore, #40/41P, 10T TC30/TAV2
1003 TC2 Torque Converter 1" Bore, #35P, 12T TC30/TAV2
1004 TC2 Torque Converter 1" Bore, #40/41P, 10T TC30/TAV2
1005 TC2 DRIVER UNIT 3/4" BORE, 3/16 KEY, 2.5 DEG FACE, 1.4 SPRING
1006 TC2 DRIVER UNIT 1" BORE, 1/4" KEY, 2.5 DEG FACE, 1.4 SPRING, 8 S
1007 TC2 DRIVEN UNIT 5/8" BORE, 6" DIA, 3/16 KEY, 2.5 DEG FACE, GREE!
1080 TC2 DRIVEN UNIT 5/8" BORE, 7" DIA, 3/16 KEY, 2.5 DEG FACE, GREE|
1081 TC2 DRIVEN UNIT 3/4" BORE, 6" DIA, 3/16 KEY, 2.5 DEG FACE, GREE!
1082 TC2 DRIVEN UNIT 3/4" BORE, 7" DIA, 3/16 KEY, 2.5 DEG FACE, GREE|
1008 DRIVER MOUNTING BOLT 3/4" CRANKSHAFT TC2

1009 DRIVER MOUNTING BOLT 1" CRANKSHAFT TC2

1010 LOCK WASHER, 5/16 TC2

1011 PILOT WASHER 3/8 TC2

1012 PILOT WASHER 5/16 TC2

1013 DRUM DRIVER 3/4" TC2

1014 DRUM DRIVER 1" TC2

1015 HUB DRIVER 3/4" 4 SPLINED TC2

1016 HUB DRIVER 1" 8 SPLINED TC2

1017 DRIVER WEIGHT ASSY W/SPRINGS TC2

1018 BLUE GARTER SPRING SET OF 2 TC2

1019 SHEAVE MOVABLE HALF W/HUB 3/4" BORE TC2

1020 SHEAVE MOVABLE HALF W/HUB 1" BORE TC2

1021 BUSHING BRONZE (NOT USED ON 1") TC2

1023 BELT, ASYMMETRIC TC2

1024 SHEAVE STATIONARY 3/4" BORE TC2

1025 SHEAVE STATIONARY 1" BORE TC2

1026 SPACER STEEL 3/4" TC2

1027 SPACER STEEL 1" TC2

1028 JAM NUT TC2

1029 SNAP RING TC2

1030 FIXED CAM TC2

1031 SPRING GREEN TC2

1032 FACE MOVEABLE WITH CAM TC2

1033 BUTTON INSERT TC2

2442 ESTAND WAY Order Online:

PLEASANT HILL, CA 94523 USA GTCmanufacturing.com

VOICE/FAX (925) 691-0334 Drop Ship to your customers

COMET#

218352A
218353A
218354A
218355A
219552A
219554A
219456A
219457A
219465A
219464A
205384A
215732A
200701A
200840A
202429A
202090A
202427A
203376A
203641A
200344A
011188A
200410A
203515A
200349A
203589A
202066A
206633A
200389A
202877A
203189A
204714A
215650A
215699A
215647A
204332A

LIST
189.00 a
189.00 a
214.00 a
214.00 a

87.00 a
104.00 a

78.00 a

87.00 a

78.00 a

87.00 a

390 b
390 b
1.60 b
290 b
290 b

21.10 c

36.90 c

1190 c

18.90 c

28.90 ¢

1190 c

2190 c

28.88 c

10.40 c

29.88 d

27.87 ¢

38.25 ¢

7.44 c
8.20 c
390 b
3.85b

1340 c

17.90 c

36.60 c

490 c

Order Online/Fax/Phone/Email
inffo@GTCmanufacturing.com



PART#
1035
1036
1037
1038
1039
1040
1041
1042
1043
1044
1045
1046
1047
1048
1049
1050
1051
1052
1055
1056
1070
1101
1102
1103
1104
1121
1122
1123
1124
1125
1126
1127
1201
1301
1302
1303
1601
1602
1603
1604
1901
1902
1903
1904

GTCmanufacturing.com

DESCRIPTION

FACE FIXED WITH POST 5/8" BORE

KEY 3/16" SQ x 2-1/4"

KEY 3/16" SQ x 9/16"

JACKSHAFT, 5/8" DIAMETER

WASHER 5/8"

SPROCKET 12T 35P

SPROCKET 10T 40/41P

BALL BEARING SEALED 5/8"

SPACER 5/8" NOT USED
SNAP RING FOR 5/8" SHAFT

MOUNTING BRACKET W/BEARINGS AND SPACER
ENGINE MOUNTING BOLT

LOCK WASHER 5/16"

SHROUD PLASTIC W/DECALS

SCREW, SHROUND MOUNTING

ROUND DECAL

LONG DECAL

Buttons (Package of 6)

JACKSHAFT KIT, BICYCLE LIFAN 2.5, GX160/200
JACKSHAFT PLATE, BICYCLE LIFAN 2.5, GX160/200
BELT GUARD

TC40 DRIVER, 1 BORE

TC40 DRIVEN, 3/4 BORE

TC40 DRIVEN, 5/8 BORE

TC40 DRIVEN, 7/8 BORE N/A
CAM BUTTONS, SET OF 3

SPRING, RED

NUT

CAM, ROLLER std. (3pcs/set)

Clip, Spring (3pcs/set)

Spring, Extension, Yel. Std. (3pcs/set)

Spring, Compression

JACKSHAFT KIT, GOKART 5-7HP ENGINES

TC340 DRIVE CLUTCH 3/4" BORE, 3/16" KEYW N/A

TC340 DRIVEN CLUTCH 5/8" BORE N/A
TC340 DRIVEN CLUTCH 3/4" BORE N/A
TC94C 7.25 D, 30MM 1:10 TAPER BORE N/A

TC94C 7.25 D, 30MM 1:10 TAPER BORE 1-5/1 N/A
TC94C 7.25 D, 1" STRAIGHT BORE 1/4" KEY 1-' N/A
TC94C 7.25 D, 3/4" - 16 THREADED ROTAX BC N/A
20 Series Drive Clutch, 3/4" bore

20 Series Drive Clutch, 1" bore

20 Series Driven Clutch, 5/8" bore, 6" dia

20 Series Driven Clutch, 5/8" bore, 7" dia N/A

TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC2
TC40
TC40
TC40
TC40
TC40
TC40
TC40
TC40
TC4A0
TC40
TC40

COMET#
217612A
209831A
011059A
212225A
200834A
200379A
202168A
215558A
203187A
212227A
218525A
217867A
200701A
218351A
214146A
218513A
218514A
218827A

203015A
209133A
209151A
209139A
206458A
203130A

203648A
203044A
203043A
203039A

GOKART/MINIBIKE

TC340
TC340
TC340
DUSTER
DUSTER
DUSTER
DUSTER
TC20
TC20
TC20
TC20

302377A
302344A
302345A
211493
211879
206095
206097
219559A
219560A
219459A
219461A

2442 Estand Way, Pleasant Hill, CA 94523

LIST
34.82 ¢
372 b
519 b
29.90 c
6.90 b
18.90 c
2490 c
15.40 c

3.85b
127.00 d
140 b
092 b
29.90 d
133 ¢
2.95d
3.95d
23.90 c
119.00 a
65.00 a
19.00 c
155.00 a
149.00 a
149.00 a
159.00 a
16.90 c
2790 c
1190 c
29.83 ¢
590 c
1190 c
27.90 c
119.00 c
169.00 a
129.00 a
159.00 a
264.95 a
264.95 a
264.95 a
264.95 a
89.95 a
109.00 a
89.00 a
89.00 a

(925) 691-0334 Voice/Fax



PART#
1905
1906
2001
2002
2003
2004
2051
2052
2053
2054
2101
2102
3521
3522
3523
3524
3525
3526
3527
3530
7001
7002
TX160s
TX200s
TX200c
TX160e
TX200e
TX270
TX340
TX390
GX160
GX200
GX200
TX502
TX501
TX503
TS550
SX1103
DM215F
DM215P
DM165F
DM165P

GTCmanufacturing.com

DESCRIPTION

20 Series Driven Clutch, 3/4" bore, 7" dia

20 Series Driven Clutch, 3/4" bore, 6" dia N/A
GY6 150 VARIATOR

GY6150 CLUTCH

CN250 FORZA VARIATOR

CN250 FORZA CLUTCH

CN250 MAIN TORQUE SPRING. RED

GY6 150 MAIN TORQUE SPRING, RED

SLIDER GY6 150

SLIDER CN250

DRIVE BELT, GY6 150

DRIVE BELT, CN250

CENTRIFUGAL CLUTCH 3/4 BORE, #35P, 12T
CENTRIFUGAL CLUTCH 3/4 BORE, #35P, 13T
CENTRIFUGAL CLUTCH 3/4 BORE, #40/41P, 10T
CENTRIFUGAL CLUTCH 1" BORE, #35P, 13T
CENTRIFUGAL CLUTCH 1" BORE, #40/41P, 14T
CENTRIFUGAL CLUTCH 5/8" BORE, #35, 11T
CENTRIFUGAL CLUTCH 3/4" BORE, #40/41P, 11T
BELT DRIVE CENTRIFUGAL CLUTCH 3/4" BORE
SNOWMOBILE CLUTCH, POLARIS
SNOWMOBILE SECONDARY DRIVE, POLARIS
TITAN TX160s 5.5HP POWERSPORT ENGINE
TITAN TX200s 6.5HP POWERSPORT ENGINE
TITAN TX200c 6.5HP POWERSPORT ENGINE
TITAN TX160 eStart 5.5HP POWERSPORT ENGINE
TITAN TX200 eStart 6.5HP POWERSPORT ENGINE
TITAN TX270 9HP ENGINE

TITAN TX340 11HP ENGINE

TITAN TX390 13HP ENGINE

HONDA GX160 5.5HP POWERSPORT ENGINE
HONDA GX200 6.5HP POWERSPORT ENGINE
HF PREDATOR 212 6.5HP ENGINE

TITAN K&N STAGE 1 KIT

ENGINE MOUNT PLATFORM

TITAN STAGE 1 KIT

TRAILSPORT 550 MINIBIKE KIT

VOODOO KID RACER GO KART

BONANZA 215 MINIBIKE FRAME KIT

BONANZA 215 MINIBIKE PARTS KIT

LITTLE BADASS MINICHOPPER FRAME KIT
LITTLE BADASS MINICHOPPER PARTS KIT

COMET#
TC20 219462A
TC20 219463A

GY6

GY6

CN250

CN250

CN250

GY6

GY6

CN250

GY6

CN250
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
SLED

SLED
GOKART/MINIBIKE
GOKART/MINIBIKE
CARB
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART

GOKART

GOKART
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GX120/160/200
GX120/160/200
GX120/160/200
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE
GOKART/MINIBIKE

2442 Estand Way, Pleasant Hill, CA 94523

LIST
89.00 a
89.00 a
115.00 e
139.00 e
139.00 e
159.00 e
34.00 e
29.00 c
2995 c
29.95 ¢
119.95 ¢
124,95 ¢
45.00 e
45.00 e
55.00 e
139.00 e
139.00 e
45.00 e
45.00 e
69.95 e
299.00 a
324.00 a
239.00 f
259.00 f
259.00 f
359.00 f
379.00 f
399.00 f
449.00 f
499.00 f
359.00 d
379.00 d
149.95 g
179.95 ¢
59.00 a
109.00 a
397.00 a
1295.00 a
295.00 d
387.00 d
395.00 d
397.00 d

(925) 691-0334 Voice/Fax



ENGINE PARTS

PART# DESCRIPTION

7002PS STINGER EXHAUST HEADER

7001PS FATTY EXHAUST HEADER

7004DM CURVED INTAKE MIKUNI VM22

5003DM INVERTED INTAKE MIKUNI, VM22 chrome
7015 MIKUNI STAGE 1 KIT WITH STINGER

7006 MIKUNI STAGE 1 KIT WITH FATTY

7007 MIKUNI CARB KIT, WITH CURVED INTAKE
5009 MIKUNI CARB KIT, WITH INVERTED INTAKE
VM22  MIKUNI VM22 CARBURETOR

SB20JR  AIR FILTER, Mikuni VM22

TX205PK K&N PREFILTER

TX503  BILLET INTAKE ADAPTER, stock carb
KN205 K&N ANGLED AIR FILTER, stock carb
TX205  ANGLED AIR FILTER, stock carb

5001DM SHOTGUN EXHAUST

L2202 MINIBIKE PARTS KIT, TACO 22

L2025  MINIBIKE CLUTCH COVER, LITTLE BADASS
1002LBA TORQUE CONVERTER, LITTLE BADASS
5005DM TORQUE CONVERTER COVER, LITTLE BADASS
6670 BILLET ROD, STOCK LENGTH

6669 BILLET ROD +10

6671 BILLET ROD +20

6619 BILLET FLYWHEEL

11091 CAMSHAFT, CL1 IMPROVED

1110 CAMSHAFT, SUPERBOX CM 275

1103 CAMSHAFT, BUILDER PREPARED 2
MINIBIKE PARTS

PART# DESCRIPTION

L-9001 MINIBIKE Front Wheel, w/Bearings
L-9002 MINIBIKE Clutch Cover

L-9003 MINIBIKE Seat

L-9004 MINIBIKE Parts Kit

L-9005 MINIBIKE Throttle Assembly with Cable
L-9006 MINIBIKE Knobby Tire

L-9007 MINIBIKE Brake and Foot Peg Rubber, set of 3
L-9008 MINIBIKE 60 Tooth Rear Sprocket

L-9009 MINIBIKE 5" Innertube

L-9010 MINIBIKE Bearing, for 5 inch wheel

L-9011 MINIBIKE Clutch Assembly 3/4 BORE, #35P, 12T

L-9012 MINIBIKE Rear Wheel Only, w/Bearings
L-9013  MINIBIKE Hunt / Wilde Grips, set of 2
L-9014 MINIBIKE Bracket for Clutch Cover
L-9016 MINIBIKE Gas Tank Kit, 11 inch

GTCmanufacturing.com

GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200
GX120/160/200

TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22
TACO 22

2442 Estand Way, Pleasant Hill, CA 94523

LIST
139.95 d
59.95d
49.95 d
59.95d
288.00 d
189.95 d
147.95 d
184.95 d
89.95 d
2195d
19.95d
18.95 d
47.95d
1497 d
169.95 d
279.95 d
59.95d
239.95d
109.95 d
59.95d
59.95d
59.95d
109.00 d
3295d
49.95 d
49.95 d

LIST
3495d
89.95 d
129.95 d
292 d
29.95d
26.95d
30d
58.95d
8.97 d
5.87d
59.95d
36.95d
2195d
21.95d
155 d

(925) 691-0334 Voice/Fax



PART# DESCRIPTION LIST
L-9019 MINIBIKE Seat, Frijole TACO 22 129.95 d
L-9020 MINIBIKE Stage 1 Kit, for Honda/clone Stock Carb TACO 22 109.95 d

GTCmanufacturing.com 2442 Estand Way, Pleasant Hill, CA 94523 (925) 691-0334 Voice/Fax



